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2.

Please do not .open this Question
Booklet until you are told to do so.

Candidate must fill up the necessary

information in the space provided.

on the OMR Answer Sheet before
commencement of the test.” =~

For marking  the correct answer,

_ darken one cirgle by black or blue ball-

point pen only. Please do not mark on
more than one circle. Darkening on
more thanone circle against an answer
will be treated as wrong answer.

Do not detach any leaf from this
Question Booklet. ‘After the. examina-
tion, hand over separately the entire

‘Question Booklet and Answer Sheet to

the Room I‘nvigilator'. o

. "Each ‘question carries 2 marks. There

is. no negative marking for any wrong
answer.. :

Possession .and use of ‘. Calculator,

Mobile Phone and Pager is prohibited

in ‘the Examination Hall.

For any discrepancy in the translated
version of any question in Hindi, the
English version of the question will be
valid. B R

You  should return ‘the Question
Booklet to the Invigilator at the end
of the examination and should not
carry any paper with you outside the

Examination Hall.
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“'1.The "GNP 'at market prices for

71201 crores. The gavern-

ment” paid Rs 5107 crores as

subsidies during the year. The

amount of indirect ta:ges in
crores for the year should work "~

out to

(@) Rs 31879
. "(b) Rs 26772‘ T
B (o). Rs 21665

(@ re 1685

© 2.. According to.Keynes, which one
. . of the following is" the basic

cause of mvoluntary
R -gunemploymmt?

- (a) A general deﬁmency in the
" demand”’ for  goods ~an
senrices -

- (b) ”EThe Trelictanice of workers to
" move to other parts of the
- country where there is work

{c) The 1nab1hty to chahge

. (occupatmns because of lack ‘

of necessary skﬂls

-{d) Workers’ - 1gnorance of
- opportunities.of emphasyment
in: other oocupatxons and
dlStl’lCtS ' :

o TS

/8B

8-09 was Rs 192866 Grores - .
te GNP at f; tor cost was ©

=3

R (d) Tra’de betWeEﬁ tWO countries
" “can take place with different

oy “3\'\\‘\\

3. Consider the following liquid

'assets
2 5‘4

1. Demand deposits -with - the
“77"  panks \

2. Time deposits with the
‘banks

3. ‘Savings deposit with the
banks

4. Currency

The correct sequence of these
assets in the decreasing order of
liquidity is

@)- 14,3, 2
(b) 2,3, 4, 1 o

4. Which . one . of \“'the' ‘follbyvsving

statements 1s not correct?

(a) Trade between two countries

. can . take place when their
-+ supply’ .and"* -~ dermand
" “conditions are 1dentlca1

: (b) ,Trade betv&te;en Awo ewntrles ‘
1 canr-take p‘lace with different.

“supply conditions '~ and
. 7»Slm11ar demand condmons

(c) - Tradé between two couritries
: can take place with identical
" 'supply” conditions  and
dlssnmlar demand
cond1t10n§

supply, and .

- . demand
.conditions :

U
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Consider  the followmg

assumptions :

1. Perféct competition

2. Perfect: mobility of factors

between couptries..
3. Constant returns to scale

Which of the above assumptxons

are " associated with Ricardo’s

theory of Compaftative Costs?

@ 1,2 and 3 .
(/) 1and2

(c) 1 and 3

(d) 2 and 3

. Pi'ice effect is written in which of
’the followmg formulae?

(a) Price effect = Substltutmn
effect + Income effect

(b) Price effect = Stubstitution

“effect + Income effect

(c) Price effect = Income effect +

Substltutlon effect .
(d) Pnce eﬁ'ect

Real mcome

effect _

On ridge lire; marginal product
of labour and capital ‘is

(a) positive
(b) zero
(c) negat:lve

(d) None of the above

b

. Which component is not

\ mcluded in ohgopoly‘?'

(@) Perfect subst1tudes

commodltles

. (b) _ Few seller‘s

10.

(c) Interdependence

(d) Advertisement

Morris theory was found in the
year '

(a) 1987
(b) 1960

(o) 1970
(d) 1964

Combined effect of increase in
demand and decrease in supply
results in

; k(a) rise in pnce

(b) decline of price
(c) afr un@hanged price

v (d) NOne of the above

11.

Which one of the market forms is

‘associated with kinked demand

curve faced by the firm?

(a) Monopoly

- +{b) - Perfect. competltlon

" “fe) Oligopoly

(d) Monopolistic competition
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(c) 1970
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12,

‘Match LlSt-—I with L1st—II ‘and

select the correct answér using
the code given below the Lists :

List-1 | List-IT
A. Child labour 1. DWCRA
B. Self-help 2. SIDBI
groups v
C. Small-scale 3. EXIM-Bank
industry
D. Trade finance 4. UNICEF
Code
(@@ A B C D
1 2 3 4
) A B C D
4 1 3 2
¢ A B C. D
.4 1 2 3
. (d A B C D
2 1 3 4
13. Since 1990 savings of the

/8-B

household sector in India have
been

(a) greater than the savmgs of

the private: corporate sector

but less than the savings of -

the public sector

(b) less than the savings of the

.. private corporate sector but
more than the savmgs of the
public sector

{c) greater than-the savings of
the private corporate sector
as well as the savings of the
public sector . - -

~ (d) less than the savings of the

private corporate sector as
well as the savings of the
public sector

14. The ‘Hinciu rate of growth’ ':
(a) refers to growth of Hindu

popﬁtat:on

-fb) is the .term -used by Raj

~ Krishna to represent the
nature of the growth of the

Indian economy at around
3-5 percent per year

(c) is the term coined by

Amartya Sen. to represent
the nature of the growth of
the Indian : economy at
around 3- 5 percent per year
(d) is the term coined by
V. K. R. V. Rao to decide the
_nature of the growth of. the
Indian economy at around 4
percent o -

15. The marketable surplus in

Indian agriculture refers to

f{a) agricultural - production +

stocks of  agricultural
- comimodities '
" fb) agricultural production -
annual consumptxon of
* ‘agricultufal ' commodities
within , the agricultural
sector

(c) consumptmn of agmcultural
commodities  within  the
agricultural sector + stocks
of agricultural commodities

(d) agricultural production +

annual consumption of
agricultural = commodities
withinr . the .agricultural
sector ’




12.

-1 B gE-i % e ghfem Hif

o et 08 Ry e I

A. T 5
Bwa@a‘mq;s
Cagz?ﬁn

‘Dwﬁm

m‘gﬁmﬁﬁfﬁﬁﬁ

‘1?!?*1 o -1

; DWCRA
SIDBI
EXIM Bank
UNICEF

Wb

PR
:
. qsz" b e e

gy (@)

o

(d)

13.

(c).

WO MO WO WO
0 WO dpO SU

SIS R O S T
W e W

1990 & W # witnfes & B T

(@) Tt fnfi 8o ) et & ol
muﬁaﬁméaﬁaa?ﬁﬁm
w3 |

(b)ﬁ%ﬁﬁw&m&?aﬁ'ﬁ?ﬁﬁm

(c)ﬁsﬁﬁnﬁaaaﬁaaa’raﬂz

/8-B

aﬁaﬁa:éaaﬁaaa‘iéam
@ e

(d) Fsft e 833 vﬁ Tt 3R
T Q5 ot a=dl 4+ @ §

qq@aﬁti%aat

(a) ﬁam aﬁ m aﬁ T =

(b) TIFST FR, Wl ardfeaen f

T, 3-5, S ived $ dgf
%Wﬁﬁ'{aﬁaﬁ%m
WWWW&% '

(c) W BT EW, WRAE referaen
#fi @ 35 i, wioad - A
aqﬁ%waﬁﬁzaﬁaasﬁ%
Pcrqnarwqa%

(d) o’ 'éso ot wa T, W
e B Il N I 4
e & @ ® @ D F

- fof, gt T v R

15, s gt 3 frer s i

(@) FR&= mm + aﬁmm@aﬁ
¥ wis wt Pifde w ?

,(b)mwm\—?&éa%

T T R e S—

I+ FRe aeget &

[P.T.O.




16.

RELE

Which among  the- following; is
not a cause of sickness of
induastrial units-in-India?

(@) Obsolesfbentmteeﬁnology
(b} Labour problems

“lo) Faulty location
‘(d) Lack of capltal account

convertibility )

‘ ConSlder the followmg
1. Sale of Resurgent India Bond

2. GA’I’T Agreement under the
Uruguay Round

3. :- Introductlon of OGL System

4. Establishment ¢.of State

18.

/8-B

Trading Corporation

The . correct chronological
sequence of these is

@ 1,234

b) 4,3,2,1

(c 4,3,1,2

An instrument of quahtative
credit control in India is-

(@) open market Operatmn

(b) cred1t ratlonlng
(c) ‘change in reserve ratio

(d) bank rate pohcyv

19. Match List-l with List-II.-and

select the correct: answer using
the code given below the Lists :

Lzst—I

. Revenue

deficit

. Budget ,

deﬁéii“ :

deficit

. Fiscal

deficit

- Code
(@

)
© f

(d)

'..4‘” W Wk b

. Monetised ..

e w AW e m w w

RO NO‘-‘O - 0

List-IT

1. Total expenditure

— Revenue
receipts; .

. Net increase in

holding of
Treasury Bills by
RBI and its
contribution to

‘market

borrowings' of
government

. Total expenditure

— Total receipts

. Revenuie

expenditure —
Reventie receipts

20. The percentage share of States in

the net proceeds of Income Tax,
~as recommended by the Tenth
Fmance Comrmssmn is

(@) 66-7
(b) 75-5

{c) 81-7:

(@ 77-5
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(d) S ARre

19.

B. w2

D. (SR T 4.

20.
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Bwecaons Do e

The fo!iomﬂg two (8)*1tems eéns1st of
two statements, one-labelled ‘Assertion
A’ and the other labelled ‘Reason R’
You are. to examine these two
statements carefully and decide if
Assertion - (A) and Reasén (R) are
individually true and if so, whether the

Reason is a correct explana,tlon of the -

Assertlon Select your answers to these
items' using’ ‘the code given below and
mark your Answer Sheet accordingly.
(a) -Botli A .and R are true and R
is th‘e'_lgorrect expla&rratiqn of
A .
(b} ‘Both‘A and R are trite but R
is nota correct explanation
of A .
(c) A is true but R is false
(d) A is false but R is true

21. Asserﬁon (A) k :
Prifnary Finanicial MarKet deals
in new financial claims.
Reason (R)':
It mobilises savings and
supplies .new. capital : to the
busmess umts

-23. Assertion (A)

‘the neoclassical model of trade,

as long as 'both: countries
are completely specialised in
production of one -conttnodity,
international trade will lead to
complete factor-pnce equahsa—
tion. ,

/8-B

Reason. {R)

' Free trade 1eads to an increase
in the price of the abundant
factor, and a decrease in the
price of the' séarce factor in
both countnes

S

23 Which one. of the following pairs

is not correctly matched?

(a) Revealed Preference Theory :
e Samueison

(b) - Indifference Curve Ana1y81s
chks

k(c) Caxdmal Utmty

Joan Robinson

(d) Input—output Analysxs :
' 'Leontief

24. Consider the follov(ring data :

Price per kg Demand for wheat
{(in Rs) o kg
12 O 5
10 ?

When the price of wheat is Rs 10
per kg and the. demand is
umt-elastlc, the demand for
wheat in kg would be

(a) 5

® 6

©. 10

d) 12

g
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25.

'26.
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Given a production function with
two inputs x; and x, and their
prices  and r,, the optimal

- combination of miputs is one for

which

(a) marginal pfoducfs ‘\of x; and
X, are equal

(b) -MRTlexz /MRTSXQ X =

() MPx, /[MPxy=ry/r,

{d) MPxy /MPx,=n/ry

Which one of the following

‘statements is correct?

{a) An employer will continue to
hire units of a variable factor
until marginal = revenue
product (MRP) becomes
equal to money wages

(b) An employer hires a variable
factor input up to the point
where dm'nnlshmg returns
begin to operate

(c) An employer hires ‘a Variable
factor input until its
marginal revenue - product
(MRP) becomes zero

(d) Variable factors are
employed  until their MRPs
become equal to one another

27.

“The burden of a tax on monopoly
proﬁt W111 be

(az) entu‘ely on the producer n

AB) f'entn'ely on’the iconsumer

s (c) equally dlstnbuted among

‘the producer and the

: conéumer ‘

"(dl;.f;;morﬁ on the consumer than

28.

“on the producer

‘Match  List-], with List-Il and
select the correct answer using

~ *the code g1Ven below the Lists :

Listl | List-II
A. Value . = ::}: Constant prices
added
B. Nominal © = 2.:Input-eutput
income maitrix
C. Real 3. Pension -
~ income ‘»
'Dis Transfer - 4. Current prices
earnings : '
Code :
;;fﬁ»i:(a) A B j c .
' 4 2 3 1
(b) A B C D
2 4 1 3
A B C D
o o4 Zang 1 3
L 8o B | 5 3 |

.
.j T e

e S SN
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S >
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29.

Monopsony in factor market

means o0
(a)  single buyer of the product
(b) 'smgle buyer of the factor
(c) many buyers of the factor

~ (d) single seller of the factor

30.

31.

32.

/8

The M, measure of money
supply does not include which

one of the followmg?

(@) Currency with the public
(b) Demand deposits

(¢} Qther deposits held with RBI

(d) ’1‘1me depqmt with bank

Formula to calculate deposits
multiplier (k) is.

1
k—___..
(@) k=1

g

(b) k:.l. A
r

| (c) k=—

1/
1
@k=1-3

Demand-pull inflation ~may be

caused ° by’ m“an factors

including

(@) a fall in consumption
expenditure V

(b) a steep reductlon in direct
taxation

(c) a - sharp increase in
unemployment

(d) an increase in income tax

14

() Vafidtion < of

35 If & 'nation’s term of trade is 2, its

33 Which out of the following is not

‘a- metﬁod of selectiveé’ credit
eog}tfol by he Central Bank'-’

(@ Regﬁ}huoﬁ Troft

requirement

“margin

reserve
requirement
{c) Regulation of
; creﬁ:ﬁ'“\ Lo

consumer

" (d) Rationing of credit

34. The 'book- Principle of Political

_ written by

(@) J. S. Mill

{b) Roliert Tower-
{c) 'David Ricardo
(d) Adam Smlth

R R R

'35, The opportumty cost theory
©rrAssames that - SR

“Ui{a) labou* is the only factor of

‘production

(b} the ‘price ‘or cost of a

“commodity. can “be-: inferred
- from-the-labour content
(c) labour:is-homopgeneous

(@) None of the above

-

e parther’s; t!m'm ofstrade is
(@ 4 e TR
(b) 2

R RO

o w

PRl

-




29.

30.

31.

32.

R AN ¥ HEEIRER
(Monopsony)m?ﬁﬂf @'('ﬂ% ‘
(a) T F T w1

(b) WA F TH Hal

(c) WY % A shar

(d) WU & T fgkan

TN I & M, & Fwiq B 3 & R
it wft R ST @

(@) S * qrE % wE A

(b) - |IT SHT F x

(c) RBI % 9rq SRR #i

(d) ¥ F gg wlt 7 i B

SO (k) % TOFT 6 R
1

T ————

1+r: -

(a) k

®) k=2

r

1
(c) k‘-"l—/—;

1

d k=
(d) T

Ain-3m ey oPs s ¥ IO

- oft R, Rt fe o

/8

(a) I0i = & g e
(b) TTF I T A FH
() T dgEfa
(d) R & H i

15

34.

35.

36.

. Peffen § dam S 8w

wafa (selective) W@ FrEo gomedt

R

(a) et TRk 1 frems

(b) 3nETEH AR TR &1 qiEd
(c}b IqHIRT | A e

(@) W@ T

Principle of Political Economy
and Taxation A9 Jeas foref 78 3

(@ J.S. Mill g

(b) Robert Tower T
(c) David Ricardo g
(d) Adam Smith g1

S ArTa Rigre ) wa

(a) 79§ e st & A B

(b) 'mmmﬁaq%mﬁ
T A E ST F G T 0w R

(c) W GHEY FaT 8

(@) < R A P

aﬁ%sﬁugﬁw-‘uﬁmu@z
2, @ 3\ a9 A TR A =AR-
¥ &
(a) 4
(b) 2
(c) 1

©o(d)

[P.T.0.




37.

38.

39.
: - of Index is

40.

/8

[b) CI'f‘Z1_X

(@)

.(b) 1945,

Choose the correct formula fbr

“arc elasticity

qa-q
a+ q

+P“P1

@ p+tp

- g+qy
P+ Pl

P-D
Q‘%
qg+q

P"‘Pl
P Py

(c)

a+tq  Ptp
9-@ prP-pP

The year of ongm and function of

IMF is

(@) 1945, 1945
1946
1947

1947

(c) ‘1945,
(d) 1946,

The best average for constructlon

(@) median >
(b) mean

(c) mode

-~ (d) geometric mean |

Minimum Needs Programme was
initiated to fight against poverty
in the

(a) 3rd Five-Year Plan
(b) 4th Five-Year Plan
(c) 5th Five-Year Plan
(d) 6th Five-Year Plan : -

16

e 3 19

42.

43.

. Producer is

‘With fall in the price of inferior

goods its demand falls instead of

rising. Reason behind it is

(a) law of diminishing marginal
utility

(b} substitution effect

(c) Giffen’s paradox

(d) change in the real income of
consumer

If a consumer consumes three
goods—X, Y, Z, then he is said to
be in equilibrium when

Py Py _ PY

(b) Px =Py =P,

() MUy = MUy = MU ;-

MU MU MU
(d) ;Xi: Y 4

Py =~ Py Pyg

The budget line céin'be written
algebraically as follows

() PxX +P,Y =M
(b) PxX -PyY =M
(c) PxX>P,Y=M
(d) None of the above

said to be «in
equilibrium when

@ 2 Mk
L ‘PK
) MPLMPE
o MPL_MPy
Py Py
(d) A’IEL_-_—E_K_
- MPg  Pp

Y i

-

T oo B O et M

v ——




37. ﬁmﬁﬁamqgamr«ﬁa%fm

38.

'39.
. (a) e

A IO
(@) qa—q P D
C1"'611 P+P1
a-q CH'QI
) b-pp p+p
(© CI“-11XP+P1
g+q . p-pi
@ L, PP
g-q pP—pP1
IMF I S99 Td e ey o 2

(@) 1945, 1945
(b) 1945, 1946
(c) 1945, 1947

(d) 1946, 1947 »

Wﬁm%mmm%

(c) &g
(d) TR Wen

40. Wt & g @ & fow ‘=mam

/8

Wm’mﬁmw%
(@) e ey A

b) g el A A

() et Gedta A R

(d) B Joadfia we |

17

"’f%@mm%

41. €7 aggelt A fwa Fr w TR A
G o TSI T2t | THH FH 3
(a) W I g fem
(b) SR ST
() T e
(d) Iavire ) awataes g § afeda

R & I @ sgei—x, Y, 2
F OIEM F@ R, A TG HIEH H
R ddmss

Px Py Py

a ——— D e I
@) Py Pz Py

) Px=Py =P
() MUx=MUy=MUg
@ MUx MUy MUz

42.

PX P};, Py
. mi@%‘raﬁmﬁwﬁamﬁmm
(a) PXX+PyY M

(b) PxX -PyY =M
(C) Pxx>PyY =M

(d) mﬁﬁﬁﬁﬁ{?ﬁ ’

44.ma§a=rﬁmﬁam%aa

@ A;PLv I\I/I)PK

L K

"MP;  MPg

- PL"> Pg

{c) -M-P—IL<£IS—

P, Pk

[P.T.O.




45.

46.

Slope of factor price line is equal
to o
@) Price of factor X
Price of factorY

Price of factor Y
Price of factor X

1
Price of factor X

1
Price of factorY

(b)

(c)

(@

Rectangular hyperbola is related

. to

47.

(a) Total Fixed Cost curve
(b) Total Variable Cost curve
(c) Average Fixed Cost curve

(d) Average Variable Cost curve

According to ‘_Mairshall,w yizgng-run
normal price of representative
firm should-be

(a) equal to Average Cost
(b) less than Average Cost
(c) more than Average Cost

| (d) unaffected by Average Cost

48.

/8

Differentiate betweéen Economic
Rent and Total Rent

(a) There is no difference

(b) Economic fent is equal to
total rent

(c) Economic rent is part of total
rent :

(d) Total rent cannot be more
than economic rent

49. Theory

50.

51.

of rate of interest
propounded by Prof. Senior is
known as

(a) ‘Marginalbproductivity theory
(b) Waiting theory

(c) Theory of sacrifice

(d) Time preference theory

Backward bending supply curve
of labour is based on

(a) work-price ratio
(b} work-leisure ratio
{c) wage rate of labour

(d) marginal productivity of
labour

“Interpersonal comparison of
utilities is possible and with this

‘comparison increase or decrease

" in welfare can be shown.” This

has been given by
(a) Marshall

“ (b) Pigou

52.

(c) Pareto
(d) None .of them

th is the writer of Economics of
Welfare?

(@) Marshall
(b) Pigou
(c) Kaldor

(d) Samuélson

-

TR 30 % 5




45. wﬁmi&r@tmmm%

46.

Priceof factor X'
Price. of factor Y
Price’ of factor Y'
Price of factor X
L Price of faétér‘,X‘ ‘
1‘ R ty
Price of factdr Y .

(a)

()

(d)

mm:ﬂﬁwmm%
(@) w@rma@@t

) ww&aﬂﬂxﬂamwﬁ |

47.

48,

(c) iraa feR e a5 |

(d) 3w oREdRie e % A
W%WMWW'

wfafafer wdf oy

(a) aﬂmm%wﬁmm
®) mmﬂmﬁmm
(c) mmﬁmﬁm'ﬂh

(d) mm@r TR B TR

mﬁ%wm@am%maﬁ
we Fiftm

. (@) Wﬁﬂi?ﬂ'ﬁ??ﬁm |

(b) wﬁhwwwm%w
g ~

(c) aﬁmmﬁmmmm
B }

: (d)@mmﬂmw%m

/8

Hﬁﬁm

19

49..

51.

o, HifrR g1, WRwRa =am % frgia
aﬁﬁwmﬁmrﬂm%?

(a) Har JmEwa fagra
b) SR

(o) amanﬁm—cr
(d) maﬁmfﬁm

0 B o R

ﬁnmmﬂa%

L ) - s
L ) - maam

)] maﬁma;‘rat ‘
(d) wﬁ@ﬂmﬁmﬁm :

mﬁmﬁmauﬁﬁwﬁm
et €, 3R gt gor @ w7 wet

\ :W%@@mmsnm%l”ﬂ% |

foram e Ren?

| ~la) m&ﬁ*r

o

52

(d) wﬁ*ﬁfﬁéqﬁ

.. Beonomics -of Welfare A& T&F

(a) T

(b) iy

(c)y - ISR

() dgereE

[P.T.O.




Whlch one of the follonn§ is

correct? f LR ,\
(@) GNP > GNI > GNE v
(b) GNP = GNI = GNE ’

() GNP < GNI < GNE

. (d) None of the above

54,

If in a country, consumer goods
worth Re'5000: croreiis pfoduesd

and capital goe&e worth ®s 4000
crore, services worth Rs 2000

crore ' and “¥ - replatement

expend1ture s RsUlOOO crore,
find NDP

(@) Rs 120007¢réfe
(b) Rs:11000- eréter o
(c) Rs 10000 crore

(@ Reso0 e 13

B8,

7In ‘monetary ecOno?rucs Say s law

- depends upon™

B6.

/8

(a) classical quantity, theory of
money (QTM)

(b) cash balance approac’h
(c) Cambridge approach of QTM
(d) None of the above *

Which = formula: - isc.-usedto
measure investmeﬁt«-m»uliafplier?

@ — b —x

-4 7 AC
AS S AY

€ —%c @ —ic
1+ — ol —
AY AT

57. Brdflips ™ Ceiiive ™ expresses
- relationship between

{a) rate:of: deﬂatwn ‘and’ rate of

g%‘owtl; oii emPlOyment
(b) inflation . .rate = and
unemp,IOyment ‘rate
(c) icredse in wages and price
. ;ﬁ“se"“ Lo e
(d) All«eii-the abm

X pie s be T

58. If ﬁa _..O and ed,-: 29, WhQ Wlll bear
‘tax burden—-lnmdence of tax?
(@) @orﬁfﬂbte buirdén by buyer
‘(b Co fnplété burdén: by ‘seller
(c) IPavtialburdén on buyer and
. - partial on seller . .
(d) None of the above
z: i rhay »-;x”;;tg;«“:"(f“:; faifls o S
5§9. Zero-based Budg@tmg is the
N Qutcome of ‘ o
(a) Sth vaerear Plan

PRI

A F‘varan

60 Under GATT ‘Most Favoured
Nation clause expected

(a) preferentlal treatment with
CTE Mfsemefg.,seiected ccountries

(b) preferential treatment with

only deve,toplng countries

(c) preferential treatment with
trade deﬁcxt countrles

B P
IR S N

(d) preferent1a1 treatment with
member"’ countrles of GATT

26
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53. sﬂﬁ%ﬂwﬁi?
(@) GNP > GNI > GNE
() GNP ‘GNI = GNE
. (c) GNP < GNI'< GNE
(d) wﬁﬁéaﬁiaﬁ

54.uﬁ@%¥1ﬁ3ﬁvﬁaﬂa§§aﬁm

IMEA 5000 g TR, Yeima gt

F IARA 4000 FE TR, Jaieit @

I 2000 FAG T 1. Wi
=g 1000 g T B, @ Y& Wel

IE (NDP) 8

(a) 12000 HUE TF
{b) 11000 s wﬁ

(c) 10000 FE T3

() 9000 TS T

i e Say T P e
m%

(a) STE g;r £ wi‘(trm ﬁiaﬁf
(QTM) W

(b) e Y GRIT W
(c) e 1 QTM ¥ROm W

55.

(@) o & A e
56. ffEm e Bt A w Bhjem §
@ —Ss B —s
'"as  'Tay
§ —m @) e
1+ == 1+ ==
AY Al

/8

21

. 89.

60.

. B1T. mwmm%

,,,,,

() v@rﬁraaﬂtaﬂwﬁaﬁ
(©) w@ﬁaﬁaﬂtmqﬁﬁ
(@) SHETR |
IR ey =0 3 gy = o, T F R A |
BLIE] (1nc1dence)

- (@) Wmmmq@m

. (b) Wgﬁwﬁmwnq@n

) mwm@mﬁm
R 93M

(d) sqzi?sﬁ%aﬁiiﬁ.

DCIE P L
(o) et et s
(o) v rlia o

(¢) weel ety A
(d) mwmaﬁ

T % awfa g rrg g’ H

e off &

() @Em%ﬁ%maﬁﬁﬁw

(b) Wﬁwﬁa%ﬁ%maﬁﬁ'@

(o) ﬁm%sﬁammqﬁﬁ% Ia*
mat@ﬁ%‘twmﬁmm

(@) ﬂz%mﬁmﬁmwﬁs‘t

[P.T.O.




- 61.

62.

63. The

64.

/8

 Growth Onented

What ~ is . the:

basis  of .

determination of pnor1t1es in a -

(Economy)
Planning?

- (a) Intensity of problem

(b) Availability of resources
(c) Stage of growth
(d) All of the above

“Vicious Circle of Poverty operate
both' on thevdemand side and
supply side.” This statement is of

(a) Singer
(b) Lewis
(c) Myrdal
(d) Nurkse

topmost  objective  of

economic planning in India is

(a) raising economic grth

(b) modernisa..‘tion‘ |

(c) self-reliance

(d) reduction of inequalities in
income and wealth

Disguised ﬁnemployinent;meé.ns

(a) people who do not ‘hajv«e work

(b) such_'employedf people who.

do not have work according
to their “ability

(c) such people " who are
irregularly = or . partially
employed L ‘

(d) suc_h people who are

attached with work but their
marginal productivity is zero

22

65.

66.

' 67.

‘Internatlonal cooperatlon at a
crossroad : Aid, Trade and
Security 1n an unequal world’ is
the title of Human Development
Report of which year?

(a) 2002
(b) 2003
v(c)‘ 2.004

(d) 2005

Which Committee was
constituted to evaluate financial
and sickness problems of small
industrial sector?

(a) Hasim Committee

. (b) Nayak Committee

(c) Abid Hussain Committee

(d) Kelkar Committee

Article 280 of the Constitution
empowers - the President to
constitute Finance Commission
after how many years?

“(a) 2 years

-(b) S years

(c) 6 years

(d) 7 years -

gy
- [ —




61.

frwmiE  (snfarsen) s 4
mwﬁmamﬁ%aﬁuﬁwananaﬂé

"ﬂu - qErE e

, ﬂv anrﬁ#ﬁawaann

62. ‘Tt = grw uit w@ qff A s

63.

64.

(c) T &t araen
(d) 3T wfl

¥ @] g ?1 9% w9 fohaet 87
(a) R

(b) e

) fda

(d) T

wiE # il R i wed weeg
ELCRGR

(a) @i forra & gf

(b) SgfRRIER

(c) srreafrdtn _
(d) ¥TE-Td o hY e A FH

ol gl B ¥
(a) @ i R ar T &

(b) YR F T W A R T

e & e FH TE

T W Am st il st

/8

yreRIfeTes AsmR # o &

(@) W A S F e § AR
IR HimT SearEenhal I &

65

International cooperation at a
crossroad :
Secunty in an unequal world’

7z fra ad 6 wme fem e =
i 87

(@) 2002
(b) 2003

(c) 2004

 (d) 2005

66.

agtaﬁn:%idﬁﬁhfqazwm1aurﬁr
RSl W g wH % g

- BR-dh wfrf Tl R

- 67

(o) wRm WRR
(b) qmnsaﬁﬂa

o e g e
(d) Fe aff

dRum W IF=DT 280 WA
et srafy & @ fom smm & e
ansﬁmﬂtﬁﬂ%? $1 

@) 298

(b) 58
c) 6
(d) 78

[P.T.O.

Aid, Trade and .




-68. Which one isi.true in'case of

69.

S A 3
@ oy = ‘/ Podo

20.

general distribution?

(@) Qs = M) < (M=)

(b) Q@3 - M)>(M-Qy)
() @3- My=(M-0Q))
(@) (M ~Qq)=(M~-Qy)

Fisher’s Ideal Index Number
formula is

w2213 L 100
2?1‘11 ZPoCﬁ

¢ \“,’w

Zpi{go t+ Ch)
(b) poy = ———>—= x 100
o7 Epolao + @) |

2po (CIo + qy) 9

100
Zp;(go + &)

(¢) po1=

(d) po ‘\/ 2Pido , E01d1 109
z31’0‘10 Ipod

In India Visl‘i’on;202‘0' for:tlfle year
2020 probable percentage of
people living below poverty line is
(@ 21%
(b) 16%

(c) 13%

(d) 10%

/8

71. Income:

72.

73.

‘consumptioni - curve
under - consumption theory is
analogous to which one .of the
following “under ' production
theory? . .. .. . :

(a) Isoquant line .
(b) Isocost line -

(c) Expansion path

(d) Ridge line -

The pnce of diamond is hlgh

because its

(a) marginal utility is more and
total utility is less

(b) marginal and total utility are
small

(c) rmafgirial ut1hty is zero

(d) total utility is greater than
marginal utility

The cross elasticity of demand

_ between two perfect substitute

goods will be

(@) zero

(b) more than zero but finite

value

(c) less than infinity -

(d) infinite




68. Wﬁm%mwm%g 1. mﬁmm% FRrTa 3 IHT
R _.aﬁmﬁwﬁﬁwﬁ«ﬁ@aﬁﬁ
'(a) (Qs-M)<(M Ql) foreh 3TeT 37

© (Qs—Mb(M“@ﬂ | (a)mw%@

@ ©3-M-= (M
(d) (M -Q3)= (M Q,g),w e ﬁmmw

69. mmmﬁ%mm@%

—— . . o ‘ 3 .’ : ~< .
(a) p01=JZp,@g0 WD), 0o T2 WETR 3"t';\.§§§?'?"? SRUELELLL
i, . Tpots

(a) S IwEfar iftw v g
_ Zpiag +ai, iy, L S

) Por 2po(@o + q1)

| (b) s mﬁﬁﬁn ar Pﬁm-—d mzhﬁﬁn
(g + m?ﬁﬁ% S

(e P = qudmo i e

- pi(qOJrqﬂ A mmﬁmwaﬁ%

z

[ P190 Zp1q1 '« 100 “(d} ENS mﬁm Pﬁmﬁr 3‘1@!’&[3'[ q
VZPOCIO 290‘11 :ﬂ&iﬁ‘é\?ﬁ% |

“(d) -po1E

. FPNTRRES:
LB '(‘”‘ :

70.*3@?41’%51#-2020%& 2020 % fir | 73 a‘r t{pf T a@ﬁ COR S
wwﬁami@ﬁﬁﬁ AT -Ehaghﬁ . _
m% - sk iy e

e o j(a) *f@
SRR (a) 212%‘” R Y AR P! o

o 6% ) 2 aﬁﬁm g it T

() 18% o eiwe (g TR

@ @) e
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74,

75.

/8

Which one of the ' following are
characteristics ‘of boscxal goods?

1. Non-exclusion™*

2. Non-equal consumption
3. Non-nval | '
4

All that is prov1ded by the

market

Select the correct*:mswén,using
the code given below :

Code : |

{a) 2 and 3

() 1and 3°

{c) 1 2 and 4

Consider  the following

.Statements-: . -

1. GDP at current pnces and
GDP at constant prices are
identical in the base year

2. GDP at current pnces is the
. economy’s ... .final . .output
valued at base year prices

3. GDP at constant prices is

the economy’s final output
valued at base year prices

' 4. GDP at current pnces and

GDP at constant’ pnces are
identical in the current year

Which one of the statements
given above are correct?

(a) 1 and 3 )

(b) 1 and 2

{c) 3 and 4

(d) 2 and 4

2’5&

76.

Given are the
information about an economy :

, ‘Rs
Consumption 6,000
Gross Investment . 1,000
Govt. Purchases 800
Exports 600
Imports 800
Depreciation 250 .

What is the GNP at market "’
prices?

@ Rs 8,100

.(B) Rs 7,850

77.

' (b) Sale of.
-, . Corporation of India from its

(c)] Sale of

(¢) Rs 7,600

(@) Rs 7,350

Which one of the following is an
example of ‘open
operatlons’?

(a) Sale of gold . by RBI to
"goldsmlths

jute by _Jute

o stock to jute mill

Government
Securities by RBI to
commercial banks and other
financial organisations on its
own initiative

(d) Sale of dollar by RBI to
exchange banks at their
requests

following ’

market -

-

s R

. et . e —



74.

75

;4"aﬂﬁﬁmm“gm

j "::"%"@a ﬁ ¥ 3‘371’ mmﬁrq; ?ﬂﬁaﬂ'%
wEor g
LosgEE

2
3. ImfEd
4

=G
ﬁmmwmmm@w
wmwa‘ﬁﬁq
e -
(a) 23R 3
() 133
€ 1,2%4
(d) 1, 2, 3 3l -

1. R = # = ﬁlrcﬁ w GDP
st fr At ® GDP T
M E

2. WWWGDPW%

3. f@rzaﬁwﬁm(}mpm% |

BRI TS E 1 |

WWWWGDPW
B 8 ‘ |
mﬁam‘ﬁ'ﬂﬁ%? R .
(@ 1@ 3
(b) 17M2

. (¢ 3TA4

/8

(d) 274

i

ﬁqf_a . N;‘{'

76. mm%mﬁm

!fﬂri Agt |
W

6,000
1, 000
800
600
800
250

g ﬂa’ﬂ »

TEEE .

s W T GNP R
(a} “18;]_‘0;(:)1;'0 S

(b} 7,850% - :

(C) 7,600 Fo. -

7. P & @ A wE g
T R S s w e

(a) RBIEW gl = @ w1 P

o) %mmm o o

fC) RBI mm W -

mm ® sqamd’raqﬁ —

memﬁm
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78. .Income ..

79.

80..

- ,' (q) ;Enterpnse households and

-~ {d) Income,"

/8

velﬂc;lty

depends upon ; %

(a) frequency of - eoending
.. money-income by tl;ﬂx{e\qpeople

(b) frequency of - earning and
- _spending of money .
(c). the speed with maney stock
. moves from income. earners
 to the producers of final
goods :

(d) - liquidityi’preferérice :of cash

by the people for the
purchase of final goods

Which one of the following pairs
is correctly matched?

(a) Fiscal deficit == -GDP

(b) anary deficit — Money

supply : S

(c) Monetlsed deﬁc1t — Interest ,‘

payments

(d) .Budget deficit — Revenue
- e¥penditure and receipts

Social- accounting:. system in

India is classified into which one

- of the following sets of sectors?

government

(b) Assets, liabilities -and debt

posmon

(¢} . Public sector, _pnvate sector
ahd joint sector

-product . and

: ’expe,ndlt_ure

81. In v

82,

: one of the following
groups of taxes, do 1mpact and
incidence of tax coincide?

{a) Income taxand Corporation
tax

(b) ' Incomé tax and Excise duty

. (c)y ‘Corporanon, tax and Custom

 duties "

(d) Excise duty and Sales Tax

Wh1ch one of the followmg does
not form a part of the foreign
exchange resérve of India?

(@) ol

) SﬂRé |

| (d) leqre}gn

83,

(c) Foreign curreri‘ey assets
currency and

secyrities held by the banks
' and cOrpOrate bod1es

Special Drawing Rights (SDRs) is
the ‘ourrenicy of IMF. This is in
the form of

(g) papgrkcurrency

(b) gold

(c) silver and gold both

(d) book-keeping entry only




78. Wﬁmﬂﬁﬁ\i{aﬂaﬂ'%
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80.

-(a}mmﬁf&wm%mﬁ

HTWR?IT‘R

(b) Eﬁ%ﬁﬁ?aﬁimﬁm
LW

coye

(c)a%ﬂﬁﬁi@g;rwmm‘

AR R h AN A AN e
%mﬁaﬂwﬁsﬁaﬁm%

(d) aﬁqm@ﬂaﬁ%mw%

THE IREE |

gk %?

(a) . TSR TR—Sho Fo Hho
(b) STt Az G

@ g T g
(@ WW—’CW = 4 Wit

e § e S @
aﬁ%mmﬁam@ﬁ
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(@) W,Wﬁaﬂaﬁv\'m,

(b) fcwfiat, e 3w H

a8

(d) 3T, IeaTE AR =Y

81,

82.

ﬁw&ﬂmﬁ%a&ﬂ%mwm%ﬁﬁq
mqawmaag?

““"(a) W@ﬁ?ﬂ*m
(). W@mgﬁ
* '3‘(6) ﬁﬂﬂ%ﬁ{@%ﬂmw

@) T R

BESER

ﬁﬂﬁﬁﬁ#mﬁﬁﬁﬂﬂgmaﬁm
ﬁ&mmqﬁg?

(a) W’f CE i

(b) SDRs

(o PR s

"(d)ﬁﬁmﬁnmaﬁmﬁm@qg

' 83.

fret g0 sfoRal

. B DA SRS B T S S
o R W Special
Drawing R1ghts) IMF ﬁ 531 % q-&.

o ERE

" ng%mﬁ

b) = e

() T A H e

(d) T v SR % e d

[P.T.G.




‘ 85.

.- Which .of the following ‘afe not
the agreements; under- World
Trade Organization?

1. Multi Fibre Agreement (MFA)

2. Agreement
’ (AoA) ‘
3. Conventlon on Intematwnal
Trade in Endangered Species

(CITES).

of Agriculture

4. Agreement on Textiles and’

Clothing

Select the correct answer using
the code given. below :

Code : L
(@) 1 and 2

(b) 1 and 3
(c) 2 and 3

(d) 2 and 4

Inverted-U hypothesis of Kuznets
is associated with movement of

whichone of the following?

(@) Consumption ihequality
(b) Wealth inequality
() Income inequality’

‘(d) Tak mequahfy

86.

/8

G1ven the rate of growth 9=5%
and marginal savings propensity
s=0-5, -the value- of capital-

output ratio consistent with
Harrod’s model would be

(@) 100 -

(b) 0-1

(c) 0-11

(@ 10 - ey

81%.

Which one of the following
factors is the least important as

_far as its responsibility for the

88.

high birthrate .in .
concerned?

India is

{a) High infant mortality

(b) Preference for é male child

(c). Low social status for a
woman

(d) Climatic factors

The most important source of -

- energy in India is
- (a) coal .

89.

(b) -gas

(c) petroleum

(d) electricity

The population of India living
below the poverty line

(a) is nsmg in - relative and
absolute terms.

(b} is falhng in relatwe terms
but rising 1n absolute terms

(C) is falhng in both relative and ;

absolute terms"

~ (d) has not changed at all over

90.

the years

Panchayati 'Raj Institutions are
intended to strengthen

(a) indicative planning
(b) - multi-level planning
(¢) structural planning

- (d) ﬁmc_tional planning -

-




84.

frm i ¥ AR T B e

e % F=wta T &7

85.

86.

/8

1. Wg g wusar (MFA)

2. FN WG (AoA)

3. GeraTas ST 3 St =R

R g (CITES)
4. HUEl G§ 9N W Hg (ATC)

mmm@mmmga—a
I A 99 P

'age:

(@ 132
(b) 133
(c) 23R 3
@ 234

FICH ! Sed-U aiees Freffa
# ¥ T T & waem 4§ g 87

(@) AT STEAFAT

(b) | AR

(c) T STEATA

(d) AT
agﬁmﬂma%aqﬁgag 5%

3iR "= 7= wgf s = 0.5, A s
%m%wwﬁﬁﬁam

mq@ﬁw

(a} 100
() 0-1
(€ 0-11
(d) 10

31

- 8%7.. mﬁﬁm%mm

mﬁﬁﬁq—m@mmm

 HEE Ty

(a) wm’mﬂ‘ |
(b) TEH & B H Ao =18
(c) ﬂ%@ﬁiﬁlﬁﬂmw
. \(d) mﬁwm

88. mﬁmmmuﬁwﬁﬁﬁa%

(a) HITE

- () MW

(c) ﬁ?ﬁ%‘l’qq

NN O
89, T Yar ¥ A @ TR @ B

() W 3 Frdw v & wg @ &

(b) wﬁ&mﬁag‘ta%iﬂzﬁzﬁa

- wdmEe

() aﬁaaﬂtﬁt&mﬁaﬁﬁw@
%

@ aﬁ@aaﬂ;ﬁmaﬁém
Tigend

9o.ﬁamaﬁwmgg‘gm"a;m

(a} m%mﬁwhmﬁ
(o) wgeata PR
(c) Tt e A

- (d) FEias PEsm |

[P.T.O.




9’1’1’" What {s'the approximate share-of

1292.'

-88ls (in. -gress- industrial - value
added in the Indl.a,n economy?

(@) 25%
(b) 30%
()~ 40% |
(d) 45% . -

If the Piaséhe’s indeéx is 225 and

Fisher’s index is 240; what is the

« +valtte of; Laspeyres. index?

93.

(@ 220
(b) 215
(c) 235
(d) 256

If all values of a variable are
multxphed by a given number,

which one of the following will

not be affected?

-~ {a), Median. -
‘(b) Mean

95'

/8

(c) Range ) ,
(d) Coefﬁcient ‘of variation

When TP falls

(@) the Afl,‘hou, is.zero

(b) the MPpour 18 zero i

c) the APpour 1S negatlve
(@ th? AP apour is declining -

The Engel curve for a Glffen good
is i

(a) negatlvely sloped
(b) positively sloped
(c) vertical

(d) horizontal .

‘‘‘‘‘‘

.If the exports-and imports of a
~-nation are-respectively:1000 and

750, Intra-Industry Index W;ll be
(@) 1 ‘
(bp) 0-86

e e

fc) 0-96

(@ 0:76

A deprematlon of a npation’s

“ currency usually causes 1nterna1
or domestlc prices to"

98.

(a) fall

(b) rise

(c) remain unchanged
(d). Any of the above

The three core values of

-~ development was given by

(a) Sen

k “ (b) Keynes
" {c) Goulet
. {d) Todaro

99.

100,

. capital-output ratio is 4, then

SAFTA stands for

(a) South Asian Free Trade Area

(b) South Asian Federation of
Traders’ Association

(c) South Asian: Free Trade
Agreement

(d) None of the above

In Harrod Domar model if the
growth rate of income is 5% and

saving rate must be
(@) 5% ‘

. (b) 20%

{c) 4%
(d) 9%

L) -

T § 3




91.

* 92.

93.

94,

95.

/8

‘m‘ % m ? ”«s%;,f“g;.-,
'Wﬁ SSIs H‘HW“W
e

(a) 25%
(b) 30%
(c) 40%

- (d) 45%

Hﬁqﬁmwm 225 U1 RFw

gEHE H AF 240 B, @ wwad

YEHH F A F1 27
(@ 220

(b) 215
{c) 235
(d) 256

R et W F oft w Bt O
e 0 o R e, @ ke
7 ¥ frw = = e T wQm?

(a) ufeem

(b) we

(c) TR

(d) Rreor 1 oS

& TP firar 2

(@) APigpoyr T BT R

(b) Mplabour W ﬁﬁT %

(c) APigpoyr THRICH. €
(d) APlabour ﬁ'{?ﬂ %

foreht P e 1 o w0 B R
(@) THTF T F L

(b) THERIHF ¥4 § T

(c) FeateR

(d) &=

97.

aﬁﬁwﬁw%ﬁmaﬁ!wm

1000 @UF 750 % a‘T a:maﬂn

s B
(@) 1

(b) 0-86
(c) 0-96
(d) 0-76

Bl o B g F sEgeEE %

o mmﬁmmﬁqw

' 98‘

(a) ﬁRﬁ%

() aga &
() mﬂaﬁamﬁ%

(@) 3o 3 B oft
W%WWW%WQ

(@) W

99,

100.

(b) ¥4
c) M
(d) A

SAFTA %1 3oy &
(a) South Asian Free Trade
~ Area ‘

(b) South Asian Federation of
Traders’ Association

() South Asian Free Trade
Agreement

(d) 39dw % @ B T

We-dm wiew # AR om HA

fPE-®/ 5% & 3R %ﬁ e srgam

43 a‘taaa-atﬁ*ﬁ

(a) 5%

(b} 20%

(c) 4%

(d) 9%

[P.T.O.
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